Defence against NT

INT System works very well.
Disrupt it if you can!
A number of systems exist.

Pick one. (Partnership Agreement)
Today we will discuss DONT




Disturb the
Oppositions’
No

Trump

DONT




Over Opp’s 1 NT:

X = A single suited hand (6+)
1 & = &s + higher suit (5/5)
1 @= @s + higher suit (5/5)

1QP= Ps + Ms

A=AS. Xthen #s = stronger hand
2 NT = Both minors (5/5)



What do | Need?

At least 7 pts

Most of the points in the suits
That you are indicating.

More If vul.

After 1NT,P,P...? What you don’t have

your P does. “l can’t stand to pass”L.
Cohen



Does It have to be 5/5? No

A good 4 carder (that’s
likely to be the one P picks)

Wild hands = wild bids.
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Responses

Over 1% or @Pass w 3 cards

W/O support;

Bid next suit. P will pass or
correct.

Over @, Pass or correct to #



A raise in P suit is mildly invitational and
IS usually passed

With a good hand you can bid 2NT to ask
P to describe her hand (Discuss w P)

If responder bids over P’s DONT call,

X or XX asks P to name unknown sulit.



Over INT, P bids 2@
aAJ10

oK 10 7 4

A 7 32

s 380




INT: X:2...?
oK J 4
A H 32

Q35
»J 104
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INT: X: 2, ..

oK J 4

A 532
Q35




P bids 2¢
Q10472
oA 964
oK 32
34



P doubles
oK J 32
Q863
oK J 97
5
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